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Question No : 1

Of the following scenarios, which one represents a good use case for using a Radio Button
control over a dropdown control? {Choose One)

A. When the list of choices are a handful, say less than 5.

B. When the list of values are static and defined in the property rule form as a local list
C. Whenever you need to preset a default value.

D. Whenever the field is required and selection is required.

Answer: A

Question No : 2

In which of the following scenarios, do you need to enable the*Run On Client" checkbox for
the refresh to occur client side? (Choose One)

A. When the user's role gels changed in the middle of case processing and they should
view additional fields based on the new role.

B. When users click the Edit button causing the fields in the form to appear editable.

C. When users click the refresh icon which should refresh the list of cases assigned to that
user.

D. When users modify the order which should trigger the recalculation of the line item and
order totals.

Answer: B

Question No : 3

You have a requirement that the system must convert text entered by a user to all
UPPERCASE before it is saved. Which method should you use to accomplish this?
(Choose One)

A. Invoke a data transform which invokes a function to change the text to UPPERCASE
when the value changes

B. Use a validate rule on the field to enforce users to enter the text in UPPERCASE

C. Create an action set which invokes a function to change to the text to UPPERCASE
when the value changes

D. Use an Edit Input rule on the field so that the text (value) is transformed to UPPERCASE
on save
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Answer: D

Question No : 4

The localization wizard is used to create a Spanish user interface of a Pega 7 application
that was originally built in English. How would Spanish operators typically be designated to
use this new User Interface? {Choose One)

A. Based on an attribute read in from an LDAP directory
B. With a setting in their corresponding operator instance
C. Based on the Access Group they belong to

D. Based on the language settings of their browser

Answer: C

Question No : 5

Utilizing the standard when rules pylsMobile and pylsTablet is common when configuring
a{n) user interface. (Choose One)

A. active

B. responsive
C. adaptive
D. dynamic

Answer: D

Question No : 6

Which of the following requirements suggests using a custom dashboard widget? (Choose
One)

A. To display the results of a report definition in a chart.

B. To display a form to present the list of all cases waiting for user action.

C. To display the weather gadget that can accept parameters to present the weather for
current location or for a selected location using parameter.
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D. To display a gadget that accepts parameters to display the map based on the home
location of the user.

Answer: C

Question No : 7

Given a scenario where you need to access an application built using Pega 7 from another
web based application deployed in a different server through Internet Application composer
(IAC), which of the following steps is NOT required? (Choose one)

A. Deploy the server containing the Pega7 application as a web node to handle the
requests coming from the IAC users

B. Create and deploy a JavaScript file which contains the scripts to launch the Pega 7
application in a web application as a gadget

C. Deploy the prgateway servlet that is used to handle the communication between the IAC
gadget manager and the Pega 7 application

D. Include a Pega-IAC ruleset in the Pega 7 application

E. Create an HTML DIV element for each flow action you wish to execute

Answer: A

Question No : 8

A form should display a clickable link for viewing the Terms and Conditions on a modal
dialog when the user selects a check box with the text "I want to view the Terms and
Conditions'. When testing the form, the link is not displayed when the check box is
selected. What could be wrong? (Choose One)

A. In the section rule that is rendering the form, the 'Run On Client" attribute in the HTML
tab is not enabled.

B. In the flow action rule that references the section rule rendering the form, "Run On
Client" attribute in the HTML tab is not enabled.

C. In the section rule that is rendering the form, on the cell that has the check box, the
"Refresh section' is not being invoked.

D. In the section rule that is rendering the form, on the cell that has the link, the "Run On
Client3 is not enabled.
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Answer: C

Question No : 9

Which one of the following is supported by the Pega-WAI ruleset that is shipped with the
product? (Choose One)

A. The screen reader can read the text entered in the tooltip field of the icon control.

B. The areas of the form that gets updated when the user input changes.

C. The state of the menu items in a menu control whether any of those choices opens a
popup window.

D. The state of the checkbox control whether it is checked or not.

Answer: A

Question No : 10

Responsiveness is configured only in the skin rule and there is no configuration required in
the content layer, specifically on sections, EXCEPT for . (Choose One)

A. Agrid

B. A screen layout

C. A column layout

D. A grid and repeating dynamic layout
E. A dynamic layout

Answer: B



